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Q1:In the context of geographic 
extremes of India,consider the following 
statement  
1:The longest coastline in india belong to 
Andhra pradesh followed by Gujrat 
2:Jog falls of sharavati river is the highest 
waterfall of india  
3:Jaislmer in Rajasthan is the hottest as well as 
leh is the coldest place of india  
4:Majuli island on river Brahmaputra is the 
largest river island  
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

Q2:In the context of geographic 
extremes of world,consider the 
following statement 
1.Grand canyon of colorado river is the largest 
canyon of world in the USA 
2.Angel fall in colombia is the highest water fall 
of the world  
3.Bay of fundy in canadian atlantic coast is the 
greatest tide of world 
4.Mawsynram in mizoram is the wettest place 
of the world  
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

Q3:In the context of solar system, 
consider the following system  
1.Saturn have more number of known moons 
while compare to jupiter 
2.venus take more time to revolve around the 
sun while compare to the earth 
3.Earth have more mass while compare to the 
venus 
which of the following statement is/are 
correct? 
A:Only one statement is correct  

B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

Q4:Consider the following statement  
1.Earth,mars ,mercury and jupiter  are called 
Terrestrial planent and rest planent are called 
Jovian or Gas Giant planets 
2.The terrestrial planets are smaller and their 
lower gravity could not hold the escaping gases. 
3.Mars  is the largest planet of the solar system 
and It is called the red planet 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

Q5:Consider the following statement  
1.Seasons occur due to rotation of the earth 
axis and Day and night occur due to revolution 
around the sun. 
2.The moon gravitational pull is weaker than 
that of Sun  
3.The rise and fall of ocean waters on the earth 
due to gravitational pull by the moon and sun  
are refer as tides 
4.when the moon is in between the sun and the 
earth ,the combined pull of the moon and the 
sun cause low tides 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

Q6:In the context of artic 
region,consider the following statement  
1.Arctic region has less deposits of coal, 
gypsum and diamonds and 13% of the world’s 
undiscovered natural gas and 30% of the 
world’s undiscovered oil. 
2.USA have been developing the millitary base 
at Murmansk region as well as russia at Nuuk 
region of artic  
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3. In 2016, India set up Gruvebadet 
Atmospheric Laboratory at Ny Alesund, 
Svalbard, Sweden  
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

Q7:In the context of artic governance 

,consider the following statement 

1:The Arctic Council is  a treaty-based 

international organization consist of  8 Arctic 

nations; Canada, Denmark, Finland, Iceland, 

Norway, Sweden, the Russian Federation, and 

the US. 

2.Barents Euro-Arctic Council (BEAC) is a 

forum for intergovernmental cooperation on 

issues concerning the Barents Region which 

member include USA Denmark, Finland, 

Iceland, Norway and Russia, 

3.Animals that Live in the Arctic Region are 

Moose ,Taiga Vole, Grizzly Bear  and Arctic Fox 

which of the following statement is/are 

correct? 

A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 
Q8:Find the following Regions 
It is larger than Europe and is twice the size of 
Australia There is no coastal plain.  The valleys 
between the mountain ranges are dry, windy, 
frozen and barren and strangely called oases.   
It is the only continent that is completely 
covered by permanent ice and snow hence it is 
known as the white continent. 
Chosse the correct answer  
A:African Region 
B:North American Region 

C:Antarctica Region 
D:Artic Region 
 

Q9:In the context of Antarctica 
region,consider the following statement  
1.In the winter months of December, January, 
and February, the sun never rises and the 
temperature at the South Pole falls to minus 
90°C. 
2.Antarctica to be rich in gold, platinum, 
nickel, copper, and petroleum. 
3.India has three research stations in 
Antarctica, namely Bharati, Dakshin Gangotri 
and Himadri 
4.The climate of Antarctica is frozen cold 
because of its distance from the Equator and 
because of the great height of the plateau. 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

10:In the context of Australia,consider 
the following statement  
1.Mulka is the coldest place as well as Charlotte 
pass is the driest place of australia 
2.Australia also have the equitorial type of 
climatic condition  
3.In australia the kalgoorlie is famous for gold 
and Kimberley city is famous for iron ore 
which of the following statement is/are 

correct? 

A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

11:Arrange the following Desert from 
North to south in australia 
1.Great victoria desert 
2.Great sandy desert 
3.Gibson desert 
4.Tanami Desert  
Chosse the correct options  
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A:2-3-4-1 
B:4-2-3-1 
C:4-1-3-2 
D:4-2-1-3 
12:Consider the following statement  
1.Darwin ,Brisbane,perth and hobart are the 
city of australia from south to north  
2.Brisbane ,sydney,canberra and perth are the 
city of australia from west to east  
3.Lake Eyre is the largest lake and Murray river 
is the longest river of australia 
which of the following statement is/are 

correct? 

A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

13:Consider the following statement  
1.The 80 deg horizontal line which is passing 
through Andhra pradesh is also pass through 
Uttar pradesh 
2.The 28 deg vertical line which is passing 
through Rajasthan is also passing through 
Arunachal Pradesh 
Which of the following statement is/are 
correct? 
A:Only statement 1 
B:Only statement 2 
C:Both the statement 1 and 2 
D:Neither statement 1 nor statement 2 
 

14:The standard meridian of India 
passes through which of the following 
state  
1.Rajasthan 
2.Madhya pradesh 
3.Odisha 
4.Andhra pradesh 
5.Tamil Nadu  
6.Chhattisgarh 
Choose the following correct option  
A:1,3,5,6 
B:1,2,3,4,5,6 
C:2,3,4,6 
D:2,3,4,5,6 

 

15:Arrange the following Indian city 
from east to west  
1.Bilaspur 
2.Raigarh 
3.Indore 
4.Itarsi 
5.Jabalpur 
Choose the correct option given below 
A:1-2-3-4-5 
B:2-1-3-5-4 
C:2-1-5-4-3 
D1-2-4-5-3 
 

16:Consider the following statement  
1.A person moving from Vietnam to peru is 
loosing a day 
2.International timeline is passing only 
through waters mainly to decrease confusion 
3.USA is having the largest time zone in the 
world  
4.India central meradain is passing through 
allahabad 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

17:Consider the following statement  
1.Western part of Australia is rich in iron  
2.western part of Australia particularly south-
western rich in coal deposits 
3.The great barrier reef which is the world 
largest reef system was declared a world 
heritage site by UNESCO 
4.The highest peak in the australian Alps is Mt 
Kosciuszko  
5.Argyle Diamond mine located in kimberley 
region is one of the largest producer of 
diamonds in te world 
which of the following statement is/are 
correct  
A:Only Two statement are correct  
B:Three  statement are correct  
C:Four statement are correct  
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D:All the five statement are correct  
 

18:Following region associated with 
maximum range of Diurnal temperature  
A:Bagota  
B:Nursultan  
C:Mumbai  
D:Nursultan 
 

19:Match the following Tribes with the 
particular region  
     Tribes                               Region 
1 Pygmyes                             Democratic Republic 
of congo  
2 Bindubu                              Australia 
3.Hausa                                 West Africa  
4.Semang                              Srilanka  
5.Bushmen                            North america 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

20:Which of the following region 
associated with Nomadic herding  
1. Alaska 
2.Mangolia  
3.Kazhakisthan  
4.Dast e kavir and Dast e Lut 
Choose the correct  options  
A:1,2 and 4 
B:3 and 4 
C:1,3 and 4 
D:Only 4  
 

21:Consider the following region which 
are associated with the sugar plantation  
1.East coast of India is associated with the 
production of sugarcane  
2.South East Coast of Australia is associated 
with the production of sugarcane  
3.South East coast of south Africa is associated 
with the production of sugarcane  
4.North of Morocco is associated with the 
production of sugarcane  

5.North east coast of canada is associated with 
the production of sugarcane  
which of the following statement is/are 
correct  
A:Only Two statement are correct  
B:Three  statement are correct  
C:Four statement are correct  
D:All the five statement are correct  
 

22:Match the following wind  
Wind                             Type 
1.Mistral                      It is cold wind from Italy  
2.Khamsin                    It is hot convective wind 
from Egypt  
3.Bora                          It is a cold wind that 
occurs in North america  
4.Zonda                        It is cold wind from 
Argentina  
5.Blizzard                     It is cold and powdery 
polar wind prevalent in north and            south 
Polar Regions, Siberia, Canada and the USA. 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

 23: Consider the following statement  
1.Institute of forest productivity is located at 
Dehradun 
2.Rajiv Gandhi Center for Biotechnology is 
located at kolkata 
3.Central Arid Zone Research Institute is 
located at jaipur  
4.Center for social Forestry and Eco-
Rehabilitation is located at Allahabad 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

24:In the context of Water 
transportation ,consider the following 
statement  
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1.The Headquarters of Central Inland water 
Transport Corporation is located at Patna 
2.The Headquarter of Inland Waterways 
Authority of India is located at Kolkata 
3.National Inland Navigation Institute is 
located Delhi 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

25:In the context of National Water way 
,consider the following statement  
1.National Water way 1 is from Allahabad to 
Haldia which is the longest National 
Waterways in India. 
2.National Water-way 4 is the second longest 
water way as well as National Water-way 5 is 
the third longest water way 
3.National water-way 3 which is from Dhubri 
to Sadiya is the shortest National water way of 
India  
4.The Inland Waterways Authority of India 
(IWAI) is responsible for the timely execution 
of national waterways projects and to ensure 
improved water transportation in India. 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

26:In the context of Indian port 
,consider the following statement  
1.Eastern coast has more number of major port 
while compare to the western coast  
2.West coast of India has more number of port 
(Major and minor ) while compare to east coast 
of India  
3.Major ports are owned and operated by the 
Central Government, while minor ports are 
owned by center government  but  operated by 
state governments 

which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

27:Consider the following statement  
1.Visakhapatnam is the second-largest port in 
terms of cargo volume handled. 
2.Chennai Port  largest port in the Bay of 
Bengal and Kochi Port in Kerala is a tidal port 
3.Mumbai is India’s largest natural port as well 
as Jawaharlal Nehru Port was the first major 
port in India to become a 100% Landlord port 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

28:In the context of Tribes in India 
,consider the following statement  
1.Madhya pradesh has the largest tribal 
population (absolute number) followed by 
odisha  
2.Mizoram has  the highest percentage of tribal 
population out of total population of the state 
followed by Nagaland  
3.No tribes have been scheduled in Punjab and 
Haryana, and the Union Territories of Delhi. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

29:Which among the following places 
are associated with iorn ore mining 
1.Chandrapur (Maharashtra ) 
2.Salem    (Karnataka) 
3.Kurnool (Andhra pradesh) 
4.Sundergarh (Odisha) 
5.Chikkamagaluru (Karanataka) 
6.Singhbhum (Jharkhand ) 
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Choose the correct optiona 
A:2,3,4,5,6 
B:1,2,3,4,5,6 
C:1,3,4,5,6 
D:3,4,5,6 
 

30:Consider the following pairs 
Famous Place            Region 
1.Bodhgaya               Baghelkhand  
2.Khajuraho              Bundelkhand 
3.Agra                       Malwa 
4.Varanasi                 Rohilkhand 
5.Tirupati                  Rayalaseema 
Identify the pair that are correctly 
matched 
A:1,2,3,5 
B:2,3,5 
C:2 and 5 only  
D:1,2 and 3 
 

31:In the context of River system 
consider the following system  
1.Vaigai river is the smallest river of India 
,which originates in the Varusanadu Hills, the 
Periyar Plateau of the Western Ghats range. 
2.Vamsadhara river is a east flowing river 
between Rishikulya and Godavari in odisha 
and andhra pradesh 
3.Luni river is  Originates in the Naga hills of 
Aravalli Ranges  near Pushkar valley in Ajmer 
District . 
4.Vaigai river flows through two state of India 
where as the Luni river flows through three 
state of India  
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

32:In the context of river basin ,consider 
the following statement  
1.Kaveri rises in Brahmagiri hills of Kodagu 
district in Andhra pradesh with its important 
tributaries are Arkavathi, Hemavathi, Bhavani 

and it drains into bay of bengal by flowing 
through 4 state . 
2.Krishna is the first largest east flowing 
Peninsular river which rises near 
Mahabaleshwar in Sahyadri and It flows 
through the states five state  before flowing into 
the Bay of Bengal 
3.Mahanadi rises in Raipur district of 
Chhattisgarh with maximum drainage basin in 
odisha and its Major tributaries are  Seonath, 
Hasdeo, Manjra, Ib . 
4.Tapi flows in a rift valley parallel to the 
Narmada and Its basin covers parts of Madhya 
Pradesh, Gujarat and Maharashtra 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

33:In the context of Natural 
Hazard,consider the following 
statement  
1.Hot Desert in India are Mainly in the state of 
Punjab,Gujrat ,Harayana and Rajasthan  
2.More Drought prone area can be found in 
Southern India while compare to Northern 
India  
3.East coast is more affected by cyclone storms 
while compare to west coast  
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

34:In the context of Climatic 
regions,Annual Rainfall and Annual 
Temperature,consider the following 
statement  
1.Mountainous type of climate can be found in 
jammu kashmir,Himachal pradesh and sikkim 
2.India have more Tropical wet and dry 
climatic region while compare to sub tropical 
wet and dry climatic region  
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3.Darjiling receive more rainfall in the month 
of june while compare to Delhi to the same 
month 
4.In august month Leh mean temperature is 
more while compare to the bengaluru of the 
same month  
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

35:Consider the following statement  
1.Kochi receive more Annual Rainfall while 
compare to Ranchi 
2.The Annual Rainfall of Visakhapatnam is less 
than that of chennai 
3.The Annual Temperature of kolkata is more 
than that of pune  
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

36:Each day is more or less the same , 
the morning is clear and bright with a 
sea breeze, as the sun climbs high in the 
sky ,heat moutns up,dark clouds form, 
the rain comes with thunder and 
lightning ,But rain is soon over. 
Which of the following region is 
described in the passage above 
A:Tropical 
B:Desert 
C:Equatorial 
D:Humid subtropical 
 

37:In the context of road 
transport,consider the following 
statement  
1.The total length of state highway is more than 
the total length of National highway 
2.India has the Third-largest road network in 
the world, Total Road Length –  6.4 million km  

3.Bharatmala Pariyojana, –  aims to build 
66,100 km of economic corridors, border and 
coastal roads, and expressways to boost the 
highway network. 
4.The length of North-south corridor highway 
is less  than the length of East-west corridor  
5.Both north-south and east-west corridor 
meet at the Nagpur  
which of the following statement is/are 
correct  
A:Only Two statement are correct  
B:Three  statement are correct  
C:Four statement are correct  
D:All the five statement are correct  
 

38:Consider the following statement  
1.NH-1 One of the oldest highways in India, it 
connects Delhi and Amritsar. 
2.NH-7 is the longest national highway in 
India, running from Jammu and Kashmir to 
Kanyakumari which is passing through 11 state  
3.The shortest national highway in India is  NH 
47A spanning 8 km between Kundanoor and 
Willingdon Island in Kochi, Kerala. 
4.NH 52, which runs through the northeastern 
states of Assam, Meghalaya, and Mizoram, is 
the only national highway in India that passes 
through a wildlife sanctuary. 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

39:In the context of irrigation 
project,consider the following statement  
1.Mayurakshi irrigation Project is on the 
Mayurakshi river of West Bengal . 
2.Rengali irrigation project is on the river 
baitarani river of Odisha 
3.Malprabha irrigation Project on the 
Malprabha river of Karnataka state 
4.Kakrapara irrigation Project is on the Tapti 
River of Maharashtra state  
which of the following statement is/are 
correct  
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A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

40:In the context of power 
generation,consider the following 
statement  
1.Doyang is famous for hydel power station in 
the state of arunachal pradesh  
2.Kalpakkam is the nuclear power station in 
the state of tamil nadu 
3.Chandrapura is famous for thermal power 
station in the state of jharkhand 
4.chandrapur is famous for solar energy in the 
state of maharashtra 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

41:In the context of Nuclear power 
plant,consider the following statement 
1.The oldest nuclear facility in India is the 
Tarapur Nuclear Reactor in the state of gujrat  
2.The largest Nuclear Power Plant in India is 
the Rawatbhata Nuclear Power Plant. 
3.Narora is nuclear power plant in the state of 
uttar pradesh  
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

42:In the context of rice production 
consider the following statement  
1.The total cropped area of wheat production is 
less than the total cropped area of rice 
production. 
2.The maximum rice produced in the state of 
westbengal followed by uttar pradesh 

3.The maximum rice production take place on 
the western side while compare to the eastern 
side of India. 
4.India  is the world’s largest rice producer 
followed by the china  
5.India is the leading exporter of Basmati rice 
to the global market which maximum produce 
in Himachal Pradesh followed by  Punjab. 
which of the following statement is/are 
correct  
A:Only Two statement are correct  
B:Three  statement are correct  
C:Four statement are correct  
D:All the five statement are correct 
 

43:Consider the following pair 
   Type of pulse                         Maximum 
and Minimum production 
1.Chickpeas                                  Madhya Pradesh 
and Andhra Pradesh 
2.Pigeon Peas                              Maharashtra and 
Madhya Pradesh 
3.Red Lentils                               Madhya Pradesh 
and West Bengal. 
4.Green Gram                             Uttar Pradesh 
and Tamil Nadu. 
5.Black Gram                               Uttar Pradesh 
and Tamil Nadu 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

44:In the context of plantation 
crop,consider the following statement  
1.Assam is the largest producer of tea followed 
by west bengal  
2.Total planted area of coffee is more than total 
planted area of tea 
3.India is the seventh largest producer of coffee 
in the world as well as Karnataka is the largest 
producer of coffee 
4.India is the third largest natural rubber 
producing country in the world as well as 
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Kerala is the largest producer followed by 
Tamilnadu and Karnataka 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

45:Consider the following pairs   
Tree species                                           Forest  
1.mahogany, aini and ebony             Tropical 
Evergreen Forest 
2. hollock and kail                            Tropical 
Deciduous Forest 
3.hurra, mahua and amla                 Tropical 
Semi-Evergreen Forest 
4.wild date palm, khair and  neem   Tropical 
Thorn Forest 
5.Chir Pine and Deodar                  Northern 
Mountain Forest 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

46:In the context of vegetation,consider 
the following ,consider the following 
statement 
1.Western Ghats and the Andaman Nicobar 
Islands have tropical rain forests.  
2.Tropical Deciduous Forest are found in the 
north-eastern states along the foothills of 
Himalayas, eastern slopes of the Western 
Ghats and Odisha.  
3.The temperate forests are called Sholas in the 
Nilgiris, Anaimalai and Palani hills.  
4.Mangroves are highly developed in the 
Andaman and Nicobar Islands and the 
Sundarbans of West Bengal 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  

D:All the four statement are correct  
 

47:In the context of Land use,consider 
the following statement 
1.Maharashtra has the largest Net sown Area 
followed by Rajasthan  
2.Punjab, Haryana, have large percentage of 
area under the Area sown more than once 
3.Dadra and Nagar Haveli, Haryana states have 
less area under forests 
4.Andhra Pradesh, followed by Rajasthan have 
more land under the Land not available for 
cultivation 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

48:In the context of Dairy Industry 
,consider the following statement  
1.India is the highest milk producer in the 
world contributing 24% of global milk 
production. 
2.Uttar pradesh is the top milk producer state 
followed by Rajasthan 
3.India export its maximum milk to 
Bangladesh ,UAE and Saudi 
4.All the state in the North east except assam 
are the  low producer of milk  
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

49:In the context of soil,consider the 
following statement 
1.Alluvial  soil can be found in deltas of the 
Mahanadi, the Godavari, the Krishna 
2.Black soil can be found  found in the Deccan 
lava plateau region of India which is Rich in 
nitrogen  and phosphorous  but deficient in 
humus, iron and lime  content. 
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3.Black soil is more in india while compare to 
the red soil 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

50:Identify the following soil 
It Brown in colour ,it also composed 
essentially of a mixture of hydrated 
oxides of aluminium and iron ,Its rich in 
iron and aluminium but poor in 
Nitrogen, Phosphorous, Potash, Lime, 
and Magnesia ,Its humus and water-
retaining capacities are moderate 
Bacterial activities have been very high 
and heavy precipitation develops 
leaching of humus as a result humus 
content is moderate to low. 
Choose the correct Options 
A:Mountain Soil 
B:Laterite Soil 
C:Desert Soil 
D:Red Soil 
 

51:Consider the following statement  
1.The Barren island volcano is an active 
volcano located in the Indian territory 
2.Barren island is located 140kms to the east of 
Port Blair 
3.The last time the Barren Island Volcano 
erupted was in 1991 and it has remained 
inactive since then. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

52:Which of the following is/are 
tributary of Brahmaputra? 
1.Dihang  
2.Kopil 
3.Jiabharali  

4. Siang 
5.Tista 
Select the correct answer using the code 
given below. 
A:1,2,3,4,5 
B:1,2,4,5 
C:1,2,5 
D:1,2,3,5 
 

53:Which of the following pair is 
correctly matched 
       Geographical feature                  Region 
A:     Abyssinian Plateau                    Eritrea 
B:     Atlas mountains                        North-
Western Africa 
C:     Guiana Highlands                     South-
America 
D:      Okavangao Basin                     South Africa 
which of the following pair is/are 
correct  
A:Only one pair is correct  
B:Two pair are correct  
C:Three pair are correct  
D:All the four pair  are correct  
 

54:Consider the following statement  
1.Annual range of temperature is lesser in the 
pacific ocean than that in the atlantic ocean 
2.Annual range of temperature is greater in the 
norther hemisphere than that in the southern 
hemisphere  
3.Southern hemisphere has less landmass as 
compared to the northern hemisphere. 
4. Coriolis force is higher in the southern 
hemisphere as compared to the northern 
hemisphere. 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

55:In which of the following oceans 
Diamantine Trench is situated? 
A:pacific ocean 
B:Atlantic Ocean 
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C:Indian ocean 
D:Arctic Ocean 
 

56:Which of the following pair is not 
correctly match  
1.Bahamas: Nassau 
2. Costa Rica:San jose 
3. Nicaragua : Managua 
4.Dominican Republic : Santo Domingo 
Choose the following  
A:Only one pair is incorrect  
B:Two pair are incorrect  
C:Three pair are incorrect  
D:All the stattement is correct  
 

57:Which one of the following is a 
lagoon 
1.Chilika lake 
2.Pulict lake 
3.Kaliveli Lake  
4.Astamudi lake 
5.Periyar lake  
Choose the following options 
A:1,2,3,4,5 
B:1,2,4 
C:1,2,3,4 
D:2,3,4 
 

58:Consider the following pairs 
    Sea                               Bordering  
1.Adriatic sea                    Albania 
2.Black sea                       Turkey  
3.Caspian sea                   Kazakhstan 
4.Mediterranean sea        Morocco 
5.Red sea                          Saudi arabia  
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

59:Mediterranean sea is a border by 
which of the following countries? 
1.Algeria 
2.Montenegro 
3.Libya 

4.Albania 
5.Bosnia 
Choose the correct option 
A:1,2,3,4,5 
B:2,3,4,5 
C:1,3,4,5 
D:1,2,4,5 
 

60:Consider the following pair 
 Geographical feature                 Country 
1.Great victoria Desert               Australia 
2.Grand Canyon                          USA 
3.Lake Winnipeg                         Canada 
4.Southern Alps                           Brazil 
Choose the following Incorrect pair 
A:Only one pair is incorrect  
B:Two pair are incorrect  
C:Three pair are incorrect  
D:All the stattement is correct  
 

61:Which of the following Pairs is not 
correctly match  
    City                               Rivers 
A Berlin                           Rhine 
B London                         Thames 
C New York               Hudson  
D Vienna                    Danube                              
 

62:Consider the following pair 
       City                           River  
1.Bangkok                     Menam 
2. Phnom-Penh              mekong 
3.  Hanoi                       Red river  
4.Yangon                     Irrawaddy river  
which of the following pair is/are 
correct  
A:Only one pair is correct  
B:Two pair are correct  
C:Three pair are correct  
D:All the four pair  are correct  
 

63:Consider the following pairs  
  Place of pilgrimage                  location 
1.Sanctuary of sea bird               Pitti island  
2.Mallikarjuna swamy temple     Srisailam 
3.Ramappa lake                           palampet 
4.Bibi-ka-maqubara                     Aurangabad 

https://www.aspireias.com/


13 

‘SAMADHAN’ Prelims Test SERIES 2024 

 

www.aspireias.com 

5.Koshak palace                          ujjain 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

64:In the context of National 
park,consider the following statement  
1.National parks can only be declared  by the 
Central Government and there are a total of 
106 National Parks in India as of 2023 
2.National park can be downgraded to the 
status of a ‘sanctuary’. 
3. No alteration of the boundaries of a national 
park shall be made except on a resolution 
passed by the State Legislature. 
4.The Latest National Park in India is Raimona 
National Park in the state of arunachal pradesh  
5.The Hailey National Park is the oldest 
national park in India which is now known as 
Jim Corbett national park. 
which of the following statement is/are 
correct  
A:Only Two statement are correct  
B:Three  statement are correct  
C:Four statement are correct  
D:All the five statement are correct 
 

65:Arrange the following state in the 
ascending order of having number of 
National park 
1.Maharashtra 
2.Rajasthan 
3.Assam 
4.Arunacahal pradesh 
5. Gujrat 
6.Andhra pradesh 
Choose the following correct options 
A:5-6-2-3-1-4 
B:4-6-5-2-1-3 
C:6-4-5-2-3-1 
D:6-2-4-5-1-2 
 

66:Consider the following pairs 
   Metallic Minerals                 Region 

1.Bauxite                                 salem 
2.Gold                                      Hutti 
3.Lead                                      Guntur 
4.Zinc                                       Bhilwara 
5.Iron                                       Khetri 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

67:Consider the following pairs 
    Non metallic minerals                     
Largest producing state 
1Dolomite                                                    Odisha 
2.Asbestos                                                 
Maharashtra 
3.Gypsum                                                 Madhya 
pradesh 
4.Mica                                                      Andhra 
pradesh 
which of the following pair is/are 
correct  
A:Only one pair is correct  
B:Two pair are correct  
C:Three pair are correct  
D:All the four pair  are correct  
 

68:In the context of oil pipeline 
,consider the following statement  
1.Naharkatia-Nunmati-Barauni Pipeline was 
the first pipeline constructed in India to bring 
crude oil from Naharkatia oilfield to Nunmati. 
2.Salaya-Koyali-Mathura Pipeline is important 
pipeline which has been laid from Salaya in 
Gujarat to Mathura in U.P. via Viramgram. 
3.Hazira-Bijaypur-Jagdishpur (HBJ) gas 
pipeline  is the shortest gas pipeline of India. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

69:Consider the following pair  
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   Refinery                                    state  
1.Nayara Energy Refinery          Gujrat 
2.Manali Refinery                      Tamil Nadu 
3.Numaligarh Refinery                Assam 
4.Tatipaka Refinery                   Andhra pradesh 
5.Paradip Refinery                        Odisha 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

70:In the context of space 
center,consider the following statement  
1.Indian Institute of Remote sensing is located 
in Dehra Dun 
2.Liquid propulsion system center is in 
Hyderabad  
3.National Remote sensing center is bangalore  
4.Semiconductor laboratory is situated in 
chandigarh 
which of the following statement is/are 
correct  
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:All the four statement are correct  
 

71:Consider the following pairs 
         Places in News                 Region 
1.Ellora Caves                          Charanandri Hills 
2.Saptakoteshwar Temple        Divar Island 
3.Grishneshwar Temple            Devagiri Fort 
4.Munroe Thuruthu Island       Ashtamudi Lake 
5.Yaya Tso Lake                       Ladakh  
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

72:Consider the following pairs 
       Place in news                       Region 
1.Kunlun Mountai                       Tibetan Plateau 
2.Great Dividing Range               Australia 

2.Ural Mountain                          Kazakhstan 
4.Alps Mountain                          South-central 
Europe 
5.Atlas  Mountain                        Algeria and 
Tunisia 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

73:In the context of recent news,consider 
the following sentences  
It is the longest above-water mountain 
range in the world. It extends over seven 
countries which include Argentina, 
Bolivia, Chile, Colombia, Ecuador, Peru 
and Venezuela. The highest elevation of 
this  is Mount Aconcagua in Argentina. It 
is also home to the world’s highest 
volcano, the Ojos del Salado on the 
Chile-Argentina border. 
Choose the following option  
A:Rocky Mountain 
B:Andes Mountain 
C:Ural Mountains 
D:Atlas Mountains 
 

74:Consider the following statement  
1.Appalachian Mountain forms a natural 
barrier between 
the eastern Coastal Plain and the vast Interior 
Lowlands of south America 
2.The  Highest peak in the Rockies is Mt. Elbert 
in Colorado. 
3.The highest mountain of Alaska Range is 
Denali. It acts as a high 
barrier to the northward flow of moist air from 
the Gulf of Alaska. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
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75:In the context of recent 
news,consider the following statement  
The country has devalued its official 
exchange rate by 90%. It is a country in 
Western Asia, located on the eastern 
shore of the Mediterranean Sea. It 
consists of a narrow strip of territory 
and is one of the world’s smaller 
sovereign states. It is located between 
Syria and Israel. It is part of the Levant 
region of the Middle East.  
Choose the correct options  
A:Jordan 
B:Oman 
C:Lebanon 
D:Bahrain 
 

76:Consider the following pairs: 
Famous Miningtownsregions     Located 
in Desert 
1. Chuquicamata :                     Kalahari Desert 
2. Kalgoorlie :                           Great Australian 
Desert 
3. Utah :                                    Nevada Desert 
Which of the pairs given above is/are correctly 
matched? 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 3 only 
(d) 1 and 3 only 
 
77:Bharmaur is inhabited by ‘Gaddi’, a 
tribal community who have maintained 
a distinct identity as they practice 
transhumance and 
converse through the Gaddiali dialect. 
In which of the following states is the 
Gaddi tribe found? 
(a) Rajasthan 
(b) Madhya Pradesh 
(c) Gujarat 
(d) Himachal Pradesh 
 

78:Consider the following pairs with 
respect to ‘slash-and-burn agriculture: 
Agriculture Practice         State 
1. Bewar                         Madhya Pradesh 

2. Podu                           Andhra Pradesh 
3. Bringa                         Odisha 
4. Kuruwa                     Jharkhand 
5.Valre                         Rajasthan 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

79:Which of the following countries are 
bordered by Russia? 
1. Lithuania 
2. Latvia 
3. Estonia 
4. Norway 
5. Finland 
6.Azerbaijan 
Choose the following option 
A:1,2,3,4,5 
B:1,2,4,5,6 
C:1,2,3,4,5,6 
D:2,3,4,5 
 

80:In the context of Indian 
Railways,consider the following 
statement  
1.India has the second largest railway network 
in Asia, and the fourth largest in the world 
2. India has more meter gauge tracks than 
Broad gauge tracks. 
3. Narrow gauge lines are generally confined to 
hilly areas. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

81:In the contex Railway zone,consider 
the following pairs 
 Railway Zone                                          
Headquarter  
1.East Central Railway                              Hajipur 
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2.North Central  Railway                         
Allahabad 
3.North Western Railway                           Jaipur 
4.South Eastern Railway                          Bilaspur 
which of the following pair is/are 
correct  
A:Only one pair is correct  
B:Two pair are correct  
C:Three pair are correct  
D:All the four pair  are correct  
 

82:Arrange the following capital cities in 
Europe from West to East. 
1. Madrid 
2. Lisbon 
3. Vienna 
4. Brussels 
Select the correct answer using the code 
given below. 
(a) 1-2-4-3 
(b) 1-2-3-4 
(c) 2-1-3-4 
(d) 2-1-4-3 
 

83:Consider the following pairs: 
Steel centers                    Country 
1. Donetsk                      Ukraine 
2. Pittsburg                     Russia 
3. Tienstin                        China 
4. Kulti-Burnpur               Japan 
5. Dusseldorf                   Germany 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

84:Consider the following statements 
with reference to inland waterways: 
1. The Rhine waterway connects the industrial 
areas of Switzerland and 
Germany with the North Atlantic Sea Route. 
2. The Mississippi-Ohio waterway connects the 
interior part of the U.S.A. 
with the Gulf of Mexico. 

Which of the statements given above 
is/are not correct? 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 
 

85:Consider the following pairs: 
Iron and steel centre            Located in 
1. Ruhr region                     Germany 
2. Duluth                                USA 
3. Port Talbot                   United Kingdom 
4. Krivoi Rog                        Ukraine 
5.Le Creusot                         Russia 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

86:Arrange the following categories of 
land use in descending order as per their 
reporting area in India: 
1. Barren and Waste Land 
2. Net Sown Area 
3. Forest 
Select the correct answer using the code 
given below. 
(a) 2-3-1 
(b) 1-2-3 
(c) 2-1-3 
(d) 3-2-1 
 

87:Consider the following pairs: 
River Origin                Country 
1. Rhine                        Poland 
2. Danube                     Germany 
3. Volga                            Russia 
Which of the pairs given above are 
correctly matched? 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2, and 3 
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88:Consider the following international 
commercial centers/cities: 
1. San Francisco 
2. Vladivostok 
3. Wuhan 
4. Melbourne 
5.Lisbon 
How many of the cities given above are 
located on the sea coasts? 
(a) Only two city 
(b) Only three cities 
(c) Only four cities 
(d) All five  cities 
 

89:With reference to coal, consider the 
following statements: 
1. The USA has largest share of recoverable coal 
reserves in the world. 
2. China is the top coal producing country in 
the world. 
3. South Africa is the top coal exporting 
country in the world. 
which of the following statement is/are 
correct? 
A:Only one statement is correct  
B:Two statement are correct  
C:Three statement are correct  
D:None of the stattement is correct  
 

90:Arrange the following 
dams/reservoirs from North to South: 
1. Nagarjuna Sagar 
2. Mettur 
3. Tehri 
4. Gandhi Sagar 
5.Hirakund 
Select the correct answer using the code 
given below. 
(a) 3-4-2-1-5 
(b) 4-3-5-2-1 
(c) 3-4-5-1-2 
(d) 5-4-2-3-1 
 

91:Consider the following pairs: 
Shifting cultivation         Practised in the 
region 
1. Milpa                             Indonesia 

2. Ladang                        Central America 
3. Jhuming                     North Eastern India 
4. Taungya                         Sri Lanka 
How many pairs given above is/are 
correctly matched? 
(a) Only one pair 
(b) Only two pairs 
(c) Only three pairs 
(d) All four pairs 
 

92:Consider the following pairs: 
Region in the news                     Country 
1. Odesa                                      Ukraine 
2. Mount Aso                             Philippines 
3. Nicosia                                     Cyprus 
How many pairs given above are correctly 
matched? 
(a) Only one pair 
(b) Only two pairs 
(c) All the three pairs 
(d) None of the pairs 
 

93:Consider the following pairs 
  Hills                          Region 
1.Nallamala Hills        Konkan 
2. Satmala Hills          Bundelkhand 
3.Mahadeo Hills          Central India 
4.Mikir Hills          North East India 
5.Javadi Hills          Eastern Ghat 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 

94:Which of the following is a tributary 
of river Ganga 
1.North koel 
2.Sarayu 
3.Rapti 
4.Kiul 
5.Yamuna 
6.Chandan 
Choose the correct answer  
A:1,2,3,5 
B:1,2,3,4,5,6 
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C:1,2,3,5,6 
D:2,3,4,5,6 
 
95:consider the following statement  
1.Karnaprayag is the place of confluence of 
Dhauliganga river and Alaknanda river. 
2.Vishnuprayag is the place of confluence of 
Pindar river and Alaknanda river. 
3.Devaprayag is the place of confluence of 
Bhagirathi river and Alaknanda river. 
4.Rudraprayag is the place of confluence of 
Mandakini river and Alaknanda river. 
5.Nandaprayag is the place of confluence of 
Nandakini river and Alaknanda river. 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 
96:Which of these places is located at 
the confluence of the rivers Betwa and 
Yamuna? 
A:Allahabad 
B:Varanasi 
C:Hamirpur 
D:Auraiya 
 
97:Pastoral nomadism is practiced in 
which of the following regions? 
1. Himalayas 
2. Tundra region 
3. Atlantic shores of North Africa 
4. Island of Madagascar 
Select the correct answer using the code 
given below. 
(a) 1 and 2 only 
(b) 2 only 
(c) 3 and 4 only 
(d) 1, 2, 3 and 4 
 
98:Arrange the following ports in India 
in a North-South direction: 
1. Kandla (Deendayal Port Authority) 
2. Vishakhapatnam 
3. Marmagao 

4. Tuticorin 
5. Mangaluru 
Select the correct answer using the code 
given below. 
(a) 1-2-3-4-5 
(b) 2-3-4-1-5 
(c) 3-5-1-4-2 
(d) 1-2-3-5-4 
 
99:In the context of recent time,consider 
the following pairs 
    Places in News                               Country  
1.Bakhmut                                        Ukraine 
2.Yellow River                                   China 
3.Guam                                            United state 
4.Kermadec Island                           New Zealand 
5.Macquarie Island                         Australia 
Choose the correct option which is given 
below  
A:Only two pair are correctly match  
B:Three  pair are correctly match 
C:Four pair are correctly match 
D:All the five pair are correctly match 
 
100:The Border Roads Organisation 
(BRO) reopened the strategic  Pass. Also 
known as The Mountain Pass of 
Blizzards, it is a strategic pass that 
connects Kashmir Valley to Ladakh. It is 
located on the Srinagar-Kargil-Leh 
highway (NH-1). The pass remains 
closed for almost half of the year due to 
heavy snowfall. The pass was captured 
by the Indian Army on November 1948 
in an assault codenamed Operation 
Bison. 
Choose the following options 
A:Baralacha La Pass  
B:Rohtang Pass 
C:Zoji La Pass 
D:Baralacha La Pass 
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